
34 +            =  55

68 -             =  36

77 -             =  57

52 +            =  82

Year 3 Autumn Maths Block Assessments:
Addition and Subtraction (B)

1 Add or subtract:

6 marks

4 marks
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2

634 + 5 = 

967 - 7 = 

359 + 400 = 

163 + 10 = 

254 - 20 = 

879 - 300 = 

What’s the missing number?

3 Solve these – you can use the empty number line for jottings:

232 + 20 =                232 + 21 =                               

232 + 19 =



6 marks

4 marks

4 marks
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586 - 30 =                586 - 31 =                               

586 + 29 =

4 Find the missing multiple of 5 in these numbers.

+ 25 = 100

- 15 = 85

  60 +            =  100

100 -             =  35

5 Find the missing number in these number pairs.

+ 8 = 100  77 +            =  100

  59 +            =  100 100 -            = 44



6 marks
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6 Sketch number lines to help Maths Frog find these differences   

105 - 97 = 

121 - 96 = 

104 - 88 = 

 Total /30 = 


